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Please read each of the following instructions carefully before attempting questions.
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1. There are 08 (eight) questions in all, out of which FIVE are to be attempted.
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2. Question Nos.1 and 5 are compulsory. Out of the remaining SIX questions, THREE are to be
attempted selecting at least ONE question from each of the two Sections I and II.

T HEAT 1 3T 5 AT gl 99 Bg T § &, ATATN [ 377 11 § T4 AR § FH § FF TH T
qied fohral dIF Y1 o I o &l

3. All questions carry equal marks. The number of marks carried by a question / part is indicated
against it.
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4. Answers must be written in legible handwriting. Each part of the question must be answered in

sequence and in the same continuation.
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5. Neat sketches may be drawn, wherever required.
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6. Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the Answer
Booklet must be clearly struck off.
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7. Re-evaluation / Re-checking of answer book of candidate is not allowed.
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1. (a)

(b)

SECTION-I
A1

Define the following terms:
(i)  Aestivation

(i1) Parthenocarpy

(i11)) Heterothallism

(iv) Double fertilization
(v) Ascocarp

(vi) Heartwood

(vii) Plant disease

(viii) Retrovirus

(ix) Trichome

(x) Sporophyll

Distinguish between the following:

(i) Microsporogenesis and megasporogenesis
(1)) Apospory and apogamy

(i) Liverworts and mosses

(iv) Facultative and obligate parasites

@) TReferfea awet it smer e

() ToIEAEATE
(i) u® FaT
(iii) FaLrafersT
(iv) =g A==
(v) UERHT

(Vi) BT

(vii) 9T&T TRT
(viii) TZrETEH
(ix) gresm

(x) oo

(@) fwferieEa & &= s fHe

(i) TSSO 3T T (ST

(i)  STTESTOAT T ATLTHA
(iii) feraas sz g

(iv) ¥ T A=A i

(10x2=20)

(4x5=20)

(10x2=20)

(4x5=20)



2. (a)

Describe in detail the sequence of events involved in the development of female gametophyte

in flowering plants. (10)
(b) What is meristem? State the location and function of different types of meristem. (10)
(c) Give symptoms, causal organism and control measures of apple scab and powdery mildew of
peas. (10)
(d) How do bryophytes reproduce asexually? Illustrate giving suitable examples. (10)
(F) Srgqars gt H AT IS AwE § anfHer weAret F dghw # FE ¥ quie
S (10)
(@) TErasaras #7472 AT T & Asaas & T Sl FHTAT T 9 (i) (10)
(1) |E T TIST 3T FeX F AT SATRAT TIRT o6 A0, FHILOT ST AT HF=707 36 3977 DS
(10)
() FTATRZEH AANH BT T FH TSI Hd 8?2 STLH IIZL0 ad T FU fehfor]| (10)
3. (a) Give a comparative account of families Malvaceae, Asteraceae and Gramineae. (10)
(b) What are the general characteristics of gymnosperms? Diagrammatically represent the life
cycle of conifers. (10)
(c) Comment on the structure and development of vascular cambium. (10)
(d) Describe the nature and life cycle pattern of a fern prothallus. (10)
(F) IR AT TAATHE QAT STSTT HTASET, THTCLHT ST JHIAT| (10)
(@) e &t 9 [OUar #9782 e ®T 8 SR gl & Siiad =@ H1 a0
EaSY (10)
(1) Hagd HfFagH H A A A a7 feoaft RS (10)
(F) A TTIAH % T AT ST =956 T F0 [hiorT| (10)
4. Write short notes on the following: (4x10=40)
(i) Reproduction in bacteria

(i)

Bentham and Hooker’s system of classification

(111) Mushroom cultivation
(iv) Economic importance of algae

Freterfera gz feoaofy frforo: (4x10=40)
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(i) wereEw ¥ BT
(iv) <rETer & ATrF A
SECTION-II
FAATT-11

. Answer the following questions briefly: (10x4=40)
(1) Define aneuploidy. How is it different from polyploidy?

(i1)) How is cell cycle regulated in plants?

(ii1)) Why is respiratory pathway referred to as an amphibolic pathway? Explain.

(iv) List the components of cytoskeleton and briefly discuss their properties.

(v) Define vernalisation. State its advantages in plants.

(vi) What is biodiversity? Describe the main strategies for biodiversity conservation.

(vii) Enlist the important differences between DNA and RNA.

(viii) How does turgor pressure help in opening and closing of stomata?

(ix) Distinguish between cofactors, coenzymes and prosthetic groups giving suitable examples.
(x) Write a brief note on site-directed mutagenesis.

et st =1 "5 § 3= S (10x4=40)
()  STIIroraT & afeATioa R a7 SEaiorar ' 5 ST 52

(i) T o wrfrhr = w1 7 FeEtEa G sar g2

(iii) a9 T T TFHIEoTh T o T § F47 SATET AT 22 THF a1 § Faqru|

(iv) HTTSTHT FHT 3 T 0 A aag o0 ST I UM O HAT § F=71 1o
(v) FETERTer F7 afesTiog RS gte § sHe wiae aqr|

(vi) St faferear #r 82 St e d@weror % forg g worifaat & avie )
(vii) STUAT 3T ARUAT % A= Tgca 01 A< il AIGF [hioTU]

(viii) L& FT GTAT A qF FLA § ThHITT a9 hF Ha& HaT g7

(ix) STIH IIGLOT T §U FHlthaeH, HIUSTSH A TEATEF T 6 A1 < fhiorw)
(x) TITH-TAEIT Ieaaad 9% U |ierm qie forfuu)

. Distinguish between the following: (4x10=40)
(1) Biome and ecosystem

(i1) Transpiration and guttation

(i11) Macroelements and microelements

(iv) Aerobic and anaerobic respiration

aferfea & = 92 Fm (4x10=40)
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Define phytohormones. Which hormone is involved in breaking seed dormancy? Describe its
physiological effects in plants. (10)
What is ascent of sap? Explain the root pressure theory of ascent of sap. (10)
What are the various factors which affect photosynthesis in plants? (10)
Justify the statement “Mitochondria are powerhouses of the cell.” (10)
ITET gIEA &l GATod FBRferm) st i ares & 19 97 g anfie g2 9tei § =96
e gt 1 v R (10)
THTLIR 97 g2 THILEI i J a9 a18 71U (10)
GYe H TERTET HETUT T TATAT hee aTer (AT T 4T &2 (10)
TATH T AT AT FL “HTZETh 7S IT HITTFRT F TTAETSH 217 (10)
Describe different components, their nature and organization of Photosystem I and
Photosystem II in plants. (10)
Write the botanical names, family, economically important plant part and uses of five cereals
cultivated in Himachal Pradesh. (10)
Give an account on modern synthetic theory of evolution. (10)

What is pollution? Comment on water pollution with reference to its major sources and

control measures. (10)
STl H TRTST A 1 T TTer A 11 % TATS =eahl, ITehl Thid 3T FMSd &1 qu {hiorT)

(10)
A= T3 ® Tl 7y S a9 AT 6 AEdidd 91, 9Rar, d w9 "
g oT 9T &7 F3edT 3w 3k 3o o) (10)
SEA & AT HT Hga o7 g i (10)
T T 82 ST TGUIT o TH@ &1 < =07 3qmat & "@a § feoqoft ) (10)
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